EARAROBREBRT —5 XN—ZXBISH—F 2022511838 (A 13@XH4H

W55 5E58 C2— HSH—g BRI

[AE%] 17%&:1,800,000  ~ 23&:720,000 37&:450,000 435:270,000 @ . 5 3&:180,000 M

B (%S RS M ML BF (FB) |94L (EZ) | @BIRG | k3F |SEH | AK | #F | A6 FE) / BE / £ES

11203l 2L LF =92 # 3 | Bl 1:(53.7 3433 395 - | 2 (5+292) ﬁg)ﬁ%;g@
RNZ—ka1—2X E:E€IT45VYR [pliker)

1 ; RS SPAT o4 Ei?%ﬁﬁ 1(755t§s 11-11-65 | 39.3| — | 3 (5_35 %&Egg k)
RiFAIAXIv— B:IIAIVRTUZR #HEIT7—L

3l5|g | 1TXYTUVZR # o3 | BARE (11:536/.41) 8-7-8-8 [39.6| — | 9 35314) g%fﬁg )
RiFA—TAVNT~ BTV ERF TV — #HBIT7—LA

sl 5| oLy Fe— 3| HRER 1( /?e;; 4-3-4-4 (398 — | 1 3313) Egii ﬁ(x#)
RiZ=Z By RRLYER TS

5 4| T—IVEVRI— t 8 ;ﬁsl!l%%’s% 1(:15/62.)2 15-15-13-13[ 39.1| — | 11 (5:27) ggg% (R#H)
R:VYRUIURIR B:FAANUETPY mK B

el ¢! /—TWwALT # 3 | SARX 1(75?:)2 10-10-12-9(39.3| — | 7 (43;) %ﬁg;’ (x#H)
RINVIATAwIDAUTP— B:099IIvFILD PSS

71111 1=y /L9297 # 3 ggfgﬁﬁfé 1(:15/62.)3 -1-1-1 (402 — | 4 (4_359) %Egg (i)
RU—FHYI59Y B:Zy/TUYPR A—-RS—029Y R

s 3| RI—VILTr— 3| oA (11516/25; 2-2-2-2 [40.5| — | 5 (ﬁg} ﬁ%ﬁegg x#)
Rib—tYI3—9Y BiR—bRIIL— bl BER

9814 ™7 hO—U— o6 %&aﬁéx 1(:15/62.)7 9-9-10-12 |40.0| — | 14 (5_030) ggg;ﬁ (R#H)
Ribo¥7O0—-U— B:OAVILY T3V =SRS

100 7| 91 Ls50— # 6 g%{lg'r%% (11:537/.4(; 14-12-9-6 | 40.5| — | 12 (4:53 ?;ﬁg% k)
RiFALNSRYIR NSy RUT« EAILBS

1Y | FrxrL7 3 ii‘é%:% 1:(517).2 12-13-14-14/39.9 | — | 13 zg;: ggﬁ_ﬁéu(t#)
R:FA=FIUSYT BYIRRDAVF EARUS

1258 | VayE=IL # 3 gsfﬁg?gi 1(:15/72.)3 7-8-11-10 | 40.5| — | 10 (4_337) %Eé )
RINZ=N\DYR BIRD-IL7Y B IE—

N . M ZE DR io4 | EEE-H (12517/25) 13-14-15-15(39.7 | — | 15 (4+538) %Eiﬁéx#)
KRNI/ RIA4Y BRU—ANY=FA L BRI

14)8|15| =D TYNO—Z "B 577 I bl I A o1+
Rib—EYS5— B:yFLYYEY L LAO94577—1

5lzl | _"AZRNT =3 3 | MHEA 1;(559).3 5-5-6-11 |42.8| — | 6 (4+552) %ﬂé;ﬁr*ﬁiééijgm_x
RIRVIATAvIDAUTP— BFXAAINAR =

@ 11— —&EBIRfI

13—7— |1,3,13,5,12,15,8,9,14,6,11,2,10,7,4

20—73— (1,3,5,13,12,15,9,8,14,6,11,7,2,10,4

33—7— |1,3,13,5,15,(11,12),9,7,14,8,6,4,2,10

43—73— (1,3,13,5,11,7,15,9,6,8,12,14,4,2,10

@ ILRE

& B 13 660 | | DA R 11-13 480F | | & & 6-7 1,340 | | 3=E | 9-11-13 8,760MH

& B 13 220M 9-13 2,050 | | # & 7-6 2,600M9 | | =& | 13-11-9 37,950

1 190 9-1 1,310 | | &5 & 11-13 1,620M
9 460M 5 & 13-11 3,780

ABIC OV TRUTEREERRODDZE. THRIIZEL.



